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Stoichiometry: Percent Yield/Percent Purity: Quiz 6a
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Make sure to SHOW ALL WORK, INCLUDE UNITS and correct SIG FIGS! 

For the following please include a BALANCED EQUATION

1. If 5.95g of potassium perchlorate are decomposed to form potassium chloride, then 1.45g of oxygen gas is also given off.  Calculate the percentage yield of oxygen. 
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KClO4 − > 2O2 + KCl
actual yield = 1.45g



theo yield = 5.95g KClO4 x
1mol
138.55 g



x 2O2



1KClO4



x 32.00 g
1mol



= 2.75g O2



%Yield = 1.45g
2.75g



x100% = 52.7%
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Forhe i s e ALANCED EQUATION
LIf 5,95 of potassium perchlorate are decomposed
to form potassium chloride, then 145 of oxygen

gas is also given off. Calculate the percentage
vield of oxygen.




